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15 MARCH 2023

08:00 AM t0 10:00 AM

01 MARCH 2023

10:30 AM to 12:30 PM

29 MARCH 2023

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS BANK ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

22 MARCH 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

05 APRIL 2023

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI BILINGUAL
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Tanu Jain 4 days ago

Real ChamS' % HwAnsisopt3:60

Thank you sir for this wonderful session
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harsh sharma 4 days ago
Thank you sir today’s session is very amazing %* n today's homework answer is 60%
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abhay singh 4 days ago
Answer is 60 thank you very much sir for this awesome session
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Abhishek Singh 4 days ago (edited)

Happy Navaratri Sir & &
Jat Mata Di.
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Atigya Garg 4 days ago 1% Neetu Maurya 4 days ago
Thank you sir ¥ L' Nice session sir thanku so much.
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Niharika Jha 4 days ago
Thank you sir .. & 0 Surbhi Sinha 4 days ago

Questions .. HDT'I'IE:WDFKQLIES’HCII'I danswer Upti[lﬁ CCCCC
Homework answer 60

e ' GF Repy

=

- = = 1 reply

. Riya Mandaokar 4 days ago
ﬁ Thank you sir for the session ans is 50

e ' 5P Reply
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A man make cheating of 20% while buying rice and make cheating of 10% when
selling rice. He promises to sell rice at 20% profit then find his overall profit ?

Teh 3TTSHT AT TWHIEd THT 20% <hT LETLET THiaT & R AT aerd TAT 10% <hl
LTS THAAT 2. T8 ATA i 20% ATH U I hT ITST KT 2, TRt STuaT awy e
AT AT 82

(@) i

3.60
4.75
5.NOT



A shopkeeper gets 20% profit but if he reduces its cost price by 20% and selling
price by 47 rupees then profit will be 25%. Calculate cost price ?

Teh ohTHE el 20% T FUeTdT 8 eifeh Ffe og U 3he Todl <l 20% 3R oeha qod
WY 47 TTX T HEAT & A AT 25% B WWE&W#{‘?

>4 N ;°/ 1. 220
[ My,

3.235
4.250
5.NOT



A shopkeeper gets 10% profit but if he reduces its cost price by 4% and had
increased selling price by 10 rupees then profit will be 18 3/4%.Calculate cost price?

Teh JohHaR <l 10% W19 FUeTdT 8 eifeh 9ie oIE 31U Sha Hodl hl 4% HH h{dl § 3R
Torsha Uoa W 10 S0 T Fleg AT & A1 ATH 18 3/4% TR AN Hod chl TUMT hi?

w m> 1.200
2.250
3.300

4.600
5.NOT




A shopkeeper gets 25% profit but if he reduces its cost price by 25% and had
decreased selling price by 25 rupees then profit will be 25%.Calculate cost price?

Teh SHMER &l 25% 14 THetar § wiferd afe o8 10 35 7ed i 25% %A HLaT g
IR TehT Ted W 25 TUA h1 HHT SHTal § a1 AT 25% FHTT SINTA Tl chl TUET hi?

( (420) > =79

3.80
4.100
5.NOT



A shopkeeper gets 10% profit but if he reduces its cost price by 27 and selling price

by 27 rupees then profit will be 15%. Calculate cost price ?

Ueh GhlAGR @1 10% o1 fferdr & offhed g a U= FT Hod A 27 T AR fapa Ao
Pl 27 JUY BH AT & dl TH 15% BN ST Hed DI I0TAT hi?

>4 N ;°/ 1. 210
f | Ll

3.81
4.54
5.NOT



A shopkeeper gets 25% profit but if he reduces its cost price by 20 rupees and
selling price by 17.5 rupees then profit will be 40%. Calculate cost price ?

Teh GehblelGN @l 25% ot Aol & offchel IS a 3D 3 e & 20 34 AR faha Hed
Pl 17.5 JUY A HIAT & dl TH 40% T AETd Hed I VAT HhR?

4 \> 1.80
w (=) gl
(vﬁ 2,70

3.62
4.64
5.NOT



A shopkeeper gets 12.5% profit but if he reduces its cost price by 10rs and selling

price reduces by 8.85 rupees then profit will be 20%. Calculate cost price ?

Uh GhIEIGR Bl 12.5% oty fFrear § aiftha Ife a8 3ua T Hed B 10 TUA B BT &
3R %@h—a Hed 8.85 TUY dhdl &Xdl ¢ al ol 20% B SNTd Hed Pl IUTAT HY?

(@)

1.120
2.119
3.118
4.117
5.NOT



Ratio of cost price of two articles is 16:23. If cost price of first article is increased by
10% and that of second article is increased by 477 rupees then new ratio will be

11:20.Find initial cost price of first article ?

ar gEGAT & T Hed B AU 16:23 & Zrﬁtl‘g’._oﬁai—%ﬂi T FHed H 10% & gig &i
STl & 3R gadl 9% & v Hed A 477 FUY HT gig T AT & dT AT 3FUrd 11:20 MM
dl gl a¥q &7 URTHG hd Hed ATd HIfoiA?

= \) 1.830
w =i gl
(vﬁ -] 2.828

3.864
4.848
5.NOT






